29.11.2015 13 ANN9ND NP9 199N
209 1IN > Dy ano)

NN
POVINY Prann py(x) o A € F™onn

my(x) = (x— A1) (x — ;) OX PN OR POV A

79
In, (A1) 0 e e 0
0 . . :
A~J=| i P
0 /
O 0 Jnt(lt)
NNIVN NN YTIVI NNX MDD PW) 1 X 1 5710 X0 J v 9192 5 X ,n»oaY A M
A(PPNOION
290

my(x) =my(x) = Lem{(x —=24) - (x =), (x = A) - (x =4} = (x = A1) - (x = A)

0»p O ,NINN .1 X 1 9710 X0 J — 2 pva v i ,my(x) = (x — A;) - (x — 1) ON
J Ny Y nnoa L (x — A1) 97N c9rn 0wha W w nx DX L YTon pva

FPNDION NN YTIVI NN MO JPW) NPDIY A 190, 1INDION



29.11.2015 13 NNN9ND NP9 199N
209 YN YT DY ANd)

191329 NYOIN

= {]E P

naeth)
2NOPY AN Vg o0

17 {v,w) €EF ,w Sy v Sv mnnan nYaNN NN ,v,w €V DNV N Y TN
: DONIAN DINRIND DIROPNNIY

(sesquilinear) v 1.5 .1

< a1v1+a2v2,w>:a1 <U1,W> +a2 <U2,W>
LV, BWy + Bow, > =B <v,wy >+ By < v,w, >

(Hermite) monsn .2

<v,w>=<Ww,Uv>
(2PN IN) MPPHVOIN .3

.v=6=><v,v>=0,<v,v>€ Rso
L R)=14))
NMN.z=x+y-1€CHOM
Z=X—=Yy-l e
Zytz=n+7; e

2y 73 =717 ®

E\lll

=7 e
lzl=z-Z=x>+y?2€Ryy o

JzZ| =0 2z=0 o
)~R)at

V1

yn Yi€C



29.11.2015 13 NNN9ND NP9 199N
209 YN YT DY ANd)

!

V1
LVWS=YY + o Vb VW = DN

!

Yn
:1,2,3 DNINN NN PIT)

o .1

:AVN)

a1y1 + @26, 128
<a1v1+a2v2,w>=< : B >

A1Vn + “25n Yn,
< vy + Ay, w > = (ayyy + @26y, + - + (1 ¥n + @28,)75
<V + AU, w > = “1(]/1)7{ + "'Vnﬁ'z) + @y (811 ++ 6n¥ih)

< a1 +a2v2,W > = aq < v, W > +a2 < Uy, W >

i Valv)!
V1' 51'
W1 = : ,W2 = H
Yo' 5
:aAVN)
V_l Biy1 + L2641
<U,31W1+ﬁ2W2>:< : ) >
Yn/ \B1Vn + P20,
=Y1(B1ys + -+ B261) + Va(Bivn + -+ + B267)
= B1(vavi + -+ ¥a¥h) + B2(v16] + -+ v165)
<V, Bwy + Bowy > =B < v,wy > 4B, < v, W, >
PO .2

V1 Y1
v=<5>,W= )
Yn Vn’



29.11.2015 13 NNN9ND NP9 199N
209 YN YT DY ANd)

:aAvN)
Y1 Vll . .
<vw>=<[|:i],[ |>= v+ vare
Yn an
)/1’ )/1
<wv>=<|:i || P )>=virn+ -+ virm
Vn, Yn
SWYS =y i+ Vi =W+ Yl = <v,w >
B Valv)
Y1
v =
Yn
:AVN)
<VUV>=y1V1+ o+ Valn
= |y1l2 4+ + lyml®* € Ry
U
<v,v>=0
)
Vil==lml=0ey=-=yp=02v=0
[ ]
YN

NN NNMPPNRD 1IN NDAON NITHN PHY MNVPY ININ) NPHN 1Y NN V/[p »

AMNPOPNN

v 5w v X | vl | | Ivl| = V<o, v > swionn qsonn nx v € V 939 1
(MIVNINI NVPY HY TNNRN DY NOYON) .V = 0o ||v|| =0

091

V =R?

v=()v =)

4



29.11.2015 13 NNN9ND NP9 199N
209 YN YT DY ANd)

<v,W>=y -y +V2 V2

<vv>=yi+y:

|IvI|=‘/y12+V22



